
FE 250 2019 <2019><EU><F2103S4>
ACCESSORY PACK

50573

Pos Part Number Description Additional Text Quantity

0 HQV0110 Pen 1.00

0 HQV170045INT Notepad 1.00

0 79603040133 Footrest-Set 1.00

0 7900309400033 FRAME PROTECTION SET BLACK 1.00

0 0025050126 HH collar screw M5x12 TX30 2.00

0 58411098100 CONTACT WASHER M6 VSV-K6 2.00

0 77405009065 Plug screw M12X1.25 WS17 1.00

0 77229072000 SPARK PLUG WRENCH 1.00

0 26512099000 ACCESSORIES FLASHER HQV 2017 1.00

0 58012040000 Rear view mirror left 1.00

0 26508016000 Numberplateholder-Extensio 1.00

0 58012140000 Rear view mirror right 1.00

0 79002014100 CAM 4-T 39,5 MM 1.00

0 50302044000 CLAMP FOR MIRROR CPL. 09 2.00

0 0019080206S FLAT HEAD SCREW M. ISA45 M8X20 1.00

0 81212016100 WASH CAP SET 1.00

0 58412080400 Rear reflector red 1.00

0 81211096000 DUMMY PLUG AN 4-PIN 1.00

0 25503090044 SKIDPLATE 250/350 COMPLETE 1.00

0 0081050181 SCREW FOR PLASTIC K50X18 T20 300 TPI Erzbergrodeo 1.00



0 52000165 Sticker set XPLOR 48 184x238 1.00

0 79233029013 Sprocket 13-t 1.00

0 80312002000 DOCUMENTS BAG HUSQVARNA 1.00

0 00063004202 PRINT LABEL 60X51 MM 1.00

0 79039074100 Map switch 1.00

0 2500208204428 Handguard right + left white 1.00

0 25102084044 Mounting kit handguard ri+le Magura only 1.00

0 80302602044 BAR PAD CPL. 1.00

0 78141013190 FUEL FILTER 3.00

0 HQV0051E HQV OSP folder 2018 1.00

0 00063004012 HEADLIGHT MASK BOX 1.00

0 58412080300 REFLECTOR YELLOW ''CEV'' ONLY USA & AUS 2.00

1 3402245EN Owner´s Manual FE 250 2019 1.00

29 80329899000 TOOL KIT 1.00


